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MATHEMATICS TEST
60 Minutes—60 Questions

DIRECTIONS: Solve each problem, choose the correct
answer, and then fill in the corresponding oval on your
answer document.

Do not linger over problems that take too much time.
Solve as many as you can; then return to the others in
the time you have left for this test.

You are permitted to use a calculator on this test. You
may use your calculator for any problems you choose,

but some of the problems may best be done without
using a calculator,

Note: Unless otherwise stated, all of the following should
be assumed.

1. lustrative figures are NOT necessarily drawn to scale.
2. Geometric figures lie in a plane.

3. The word line indicates a straight line.

4. The word average indicates arithmetic mean.

1. The lowest temperature on a winter morning was ~8°F,
Later that same day the temperature reached a high of
24°F. By how many degrees Fahrenheit did the

DO YOUR FIGURING HERE.
Lntegers

temperature increase?

Faes o s difference Subtract end poiiTe
< inig 24 —(-8) =24+ 8 =32

p t?-i”c'eWZL
2y w257 =

2. Disregarding sales tax, how much will you save when
H/ you buy an $11 compact disc that is on sale for

25% off?
F. $0.28 Y&/A. S Ve

G. 30.44 )
S H 215 759 of Fart) Price - o
K 8% When ton get 25U off PN ¥ 225 = FR2T5

3. As part of a school project, Akio wants to find the
average cost of renting a newly released videotape
from video rental stores in his neighborhood. He
surveys 4 stores and finds the cost of renting a newly
released videotape from the 4 stores to be $3.50, $3.40,
$3.50, and $3.00, respectively. Using this data, what is

C the average cost of renting a newly released videotape

wus o #3500+ 4340 43 o,

A, $3.25
6/

B. $3.30

C. $3.35
D. $3.45

4. In the figure below. AC is parallel to DE with X on AC
and B on DE. Also AB = BC, and the measure of

ZXAB is 110°. What is the measure of ZACB ?

E. $3.50
5/

F. 350 i i
G. 40°

s 1109 ?

J A

L1100 X A C

AVerade formu /o
Av = sam of entrres
Nambee v eavriec

£ o B

Stpplementnl anglis
g 75050 feS FriargleS
LBAC = LBLA

i R

7 GO ON TO THE NEXT PAGE.
AL oF 14is
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5. Regular hexagon ABCDEF is inscribed in a circle, as DO YOWR FIGURING HERE.
shown below. If the length of radius OD is 15 centi-
meters, how long is AB, in centimeters? # e X C ﬁ oN < ;

{ A. 15 ’ 4
B. 18 %g &ﬂay@qq/ s of he X4 a0/
G730 (&%
b, 50 ) breaf a reqular Nexagow
¢ 2s into eguilateral triang/es

6. The price of a pumpkin is directly proportional to its

weight. If a pumpkin that weighs 15.0 pounds costs p//~0 /po //- é’ ) Mg'

$3.25, how much will an 11.4-pound pumpkin cost?

F.
G.
H.
1.
K.

PR sgs /4 pEER D el
il .# o A . Z Frep O%Moﬁe Ca/cm/aﬁ:/rg‘::o/s/g—

7. Tn the figure below, D is a point on AB, and CD is

perpendicular to AB. Based on this information, which /De }/ / g /l/ d’ ’ c a,/ﬁ i/ //‘ ﬁ é S’

of the following is the best conclusion?

7%5 /S ove I Zhose

A * P Vidlew fously €4Sy FuéTons

A, £ZCDA = ZCDB. i
B. ZCDA is larger than ZCDB. Z
C. AB bisects CD. , 4 LL 7ﬂ 4/@/65 are Cffo’ﬁ.é/
D. CD and DB are equal in length. /
E. Point C is equidistant from A and B.
8. If3x—7=4x - 16, thenx=? So /v ; Ty
S/ VIAN () a
e £ 2 Vil
L X7 = 4% —[b |
5 —23X +/b =—3x +/6
H. =

K.

9

9, Which of the following is always equal to

il = 5"”7/9/"79”7 A 72 brarc

A. ~2a-24 T

e Sy S ‘
=1 5 - 5 7 EX Dressjons avyd
Di pz oy —Ce e (71 D/S?LP.? éw”?yé Pm/gg’ﬂ?’;/
E. -2a°-24

ACT-568-SAMPLE 15 GO ON TO THE NEXT PAGE.
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10. One marble is drawn at random from a bag containing DO YOUR FIGURING HERE,

3 red, 2 blue, and 4 green marbles. What is the proba-
bility that the marble drawn is NOT blue? // é ﬂ, é . / % /
ﬂ S ===,

# ol /7 f ,\]‘t

2 y
¢. 2 What \Lou Wa Desited ou?come
g 1 Plus | hat Nou ALL Possible ou7 Comés

I

“ & ot WaNt eguals . mre -

L2 A e
K5 ToTHL Poscs b/ Fil possidle @

11. ;)Vanda pf)ograhmsdher calc;ilator [(I)x pegforfm a linear
unction, but she doesn’t tell you what that function is. f.’
=I'0; val ion is 2.
;\JN .i.].alnz,nthe galﬁzeis 3.U€Vl%ilzh§f 311: ﬁ’gﬁgwfisngz eg:'leesr—l FWC 4% N 5
:Elons exgl:;ix;s ::t:]ift etll‘leed;:alculator will display when W A 7L 'S %’%
y number, n, ?
A, /

e nput | oudput pitat

A A &6 / £ i The /MUPMM/M Af""ﬁ
D. 2n-10 /Z/ &f oA e/ 57 Z
E. -2 77 ¢ DLl Can be ot e fbecs bean

12. On the line segment below, the ratio of lengths XY to S
YZ is 1:3. What is the ratio of XY to XZ? /Df"ﬂ/péma/l/-g QA/’// /'2-77;95

Cannot be determined from the given information

— =
77 cEeng s m’jfj s Ly o g
1. 4 X /AD

13. If a board 7 feet 10 inches long is cut into 2 equal M{d Sarem v

parts, as shown below, what will be the length, to the

r;ear;:?; i:lch. of each part? \/{ VLI IOQS;C ‘?u £ 'f,') o/

[/ Ié: e iL 7’[10” ] \[z-p# 7 Feet = 34.&%’1‘;1% x'utjé—.&’
D. 4’2" 7 : 5 SNC srvehel
E- 41511 }_ = ‘}2_ ﬂ.— IDNUZA(?*S

3 fee? /) inthiES

14. The speed of one train exceeds twice the speed of ﬁ/
another l13}! ].::0 m%]h. {?f r mph is the speed of the slower "'{ P €e AN / /P A fb‘ A
train, which of the following expresses the speed, in ; A ; /
M miles per hour, of the faster tfain?p P (’ ﬁmé//f/ ‘{7_?/ W % f #z 25 /él Z‘;’V
F. r+15 . o
G. -3  R=S/ower tram %f{gmy é’,{q/;,gé 4o t/n 24

H. r+30

2-30 S faclertrain

J.
K.

o Zﬂ, L1 16 GO ON TO THE NEXT PAGE.
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15.

Y/

16.

17,

The circle shown below has a radius of 10 meters, and DO YOUR FIGURING HERE.
the length of chord AB is 16 meters. If O marks the C /.f" b / LS

center of the circle, what is the length of OC ? / 3
j:/ radg s //VZérgeCE

A
chord a7 78" e

A 23 —Hc S s o perpepidicali s
c: 12 | f;,';,-)(_‘ Cfﬁ‘,}," i F ;j.;jp:,f A0/ =’7/
D. 4V21
E: 30 , P7hHagorean i ple A f;‘hp/ 52
Rf?itiswéhglvalue of the expression x° — 2x* + 4x + 4 é'yé_/“&.z—/,ﬁ é;K,Df&SS/OOS
F. 12 Wé&ra&/ef

L& gk Ser o - 24 () =4
b sesttde g oLl gRE | o)l

I
What is the next term after —= in the geometric
3 - geometric :
R EA Géamcszfmc, Sef&cé/vcé
56‘5 & Commor Fa770

7{; 56’7%54/[4/@ 544/}!;/ 0/0[{%‘&# .:i
USing e Stmi WimberPonck Lome.
To Food Common raiio divide secons/ fepezr

) i ‘ !
ver FrsT cR=TE i =L )

>
.
[
=

S AR
S P I

18.

On the blueprint for Betty’s house, —}T inch represents

an actuoal length of 1 foot. What is the area, in square /‘p/ﬂ 2 ﬁ cr Zj{ 0/{/5 ﬁ/f// Tl EX—

felet, of Betty’s rectangular bedroom, which is /I/€E’ / 5.0 j[/' D L e "é‘ Z%’" & /V//
2= inches by 3 inches on the blueprint? : .
ar s WINLE oty Vicdea Py Géfpre

a0k a0y - 2GS i
G # oo =L ;fwg,»/zg‘ aFreda
T Pl o S o [ =25 Tl o 3.0 ~ )7 /Ox)2 =
oS mel = = —mzs = /0 S Sedr)
19. 1f 4> 0 and b < 0, then the sum of @ and b: Axioms o rea/ N ltr1Her<

3. is a}ways positive. :
b i tive.
- 2f Yo add any posiTve
D, cannot be zero, but can be any other real number.
E. can be any real number. /’/W é W 4 /W/ 4 /] /f/%’ﬂﬂ 20\/{'
, . . Cant 9¢7 aAry
ACT-56B-SAMPLE /‘/&LMb‘t@’f'}? % 4 éo ONTO TH;E NEXT PAGE.
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20. Ifx+i—l-thenx=?

[o= 4 78 "8
2

DO YOUR FIGURING HERE.

4, 3428° . —59/ W@ /—2;/?@ Drasc 6%%?’#7/;/7/ <

—2s WS oi Za%

Z8 =g = o Roand 28 are

4 _% Wi _ﬁ/_.. S /
e z8 zg

21. What is the slope of the line given by the equation
3x+5y=-157
ros Slopefrutercept
B e V= mEiD

C/ =S /D &

Das m p

ANass b é/
5/9?6 Vi<s b4 y4

3>(+ 5’51:: AS

22. The length of a side of a square is represented as

(2x — 3) inches. Which of the following general expres-
sions represents the area of the square, in square

inches?
4 = 12x +9

R

50

/Va/ﬁ,a/y//tg biwor)c

2‘ fx——j (fof3 &
Sj-lz (é%)()a,—-b) --=> 4/762;— ¥y —Fq‘

o0r —2alb +b+

23. J\glilgl; _o’i‘st];e following is a polynomial factor of Fﬁ_ C72_ k/’ Mj 7;; /‘/ﬂ M}' 2 / S
( e ke b (= 5)(x —f—B)

; X+ 3B 40 LA Snrs &féf@w-» BALX

C. 3+x
D. 2-x
E.
24, In the equation m = ﬁ;] q represents a positive

integer. As g gets larger and larger without bound, the

gets closer and closer to 0.
gets closer and closer to 1.
gets closer and closer to 3.
remains constant.

gets larger and larger.

abatTot

ACT-56B-SAMPLE

L//??/Z'S

value of ni: T 2 : :
? w ﬁ; Wt ﬁ@zf; /4’/76/’

amd 7arger zf;"é m{’?‘fig
7[???-5':7%5’9/!/ ‘?(@jéé;jfyﬂéé@fﬁ
w6 277 5 /786N T0 THE NEXT PAGE.
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25. The book Fahrenheit 451 by Ray Bradbury is about a DO YOUR FIGURING HERE.
society in which all books are banned and burned. The M SRS M’ ; L/
title of the book gives the approximate temperature at dA/ /‘/) a / W @’ 774 é‘S’
which paper starts to burn. Since Fahrenheit, F, and

Celsius, C, temperatures are related by the formula f

C= —g-(F — 32), which of the following would make an

equivalent title for the book?
ey | (/y ;3’)(%// @ 2007
el VAL

Celsius 268
Celsius 754
Celsius 844

]

[

" o et e o S s, Ngehroe 2y Flerrm TR
what is the width, in inches? Fﬂf’m s / i
F. 8 i
G 8 Traslite  Rometee | 55
) 21 L= bt/  OfRecTor5/é =

e W= _u 43 = 2w +2(6740)
27. What are all the solutions for x if 2x* — 3x - 20 =0 ? 26 = 6//!/
A. x=-20only ﬁ@cf‘a;—-,,vg 9 v
B. x= Sorx=2 ﬁ/M&M/;g,/S : YT
Chixi= —4orx=% 2’“}(2"_-3"){ wZ-@ — (Zx 7L5:) {j{ — é‘f :O
D, x= u-g- ax=4 TF aé =0, enr LKF+-E = O OF K—Y=¢D

A or b pus7 be gﬁ/ X =

E. x= 2orx=35

,52:-— or ")(::“-.L/

28. In Terell’s history class, all tests count equally. So far, :
Terell has taken 2 of the 3 tests in history and earned EF 4‘7 / 1 y 478 / V74

scores of 93% and 82%, respectively. What is the min-

T el s e G5 93 1BLEN
LWL 75 fove qrverage of 85 =
E' % for three tesTs, he peafs

B @5 or 7255 po/,vfs He hos 93+ 8z now

29, If a, b. and c are positive integers such that a” = x and Z 55 — ?3 8 Z g 0

o Saé_ff‘ ﬁcfﬂf Vari it Jes avp Rules of

2k

Eifc_f Wi & ‘~/ c®t EXpo MerT<

o ¥ o obeb (a c)

ACT-568-SAMPLE GO ON TO THE NEXT PAGE.

hi=lie) B e



20 A ADA AR /\oh B8

30. What is the area, in square inches, of a circle with a DO YOUR FIGURING HERE.

F. 100

.. 25

H. 10r
¥ 25¢
K. 100m

diameter equal to 1051(:%:5’2 e d/"’€5¢ # C’/F’dlé— o 7_},_2_

)0 =2V e = 77/(5)7’:_25'77’
12 = ¥ =

Z

31. To get a dI‘IV%l"S c}uzanse, an applicant must pass a
written test and a driving test. Past records show that p y
80% of the applicants pass the written test and 60% of (/A 67V7- S :
those who have passed the written test pass the driving
test. Based on these figures, how many applicants in a :
random group of 1,000 applicants would you expect to % &4 / My Sy W ;

get driver’s licenses?

A. 200
B. 480
C. 600
D. 750
E.

800

wH ¢7 Gw = Y50

32. If sinA = %, then which of the following could be

tanA ?

F.

G.
i

J.

BowE = Al s

Kl

e SOHCAN 70/

4 R Sine€ ﬁwgeuf M "‘;?Q')
A thoy O=4. 75 orty
SiN = =00 ChoGE Lok bas </
H 5 g5 vameraTor /5 I

33. If x is any number other than 4 and 5, then 5)Mp/{/7)/t¢ 4{’9@5”& f"a

@-x}-5) _o

(x-d)(x-5 ~

. =20
C. =0
D.

E

>

1
w2l

The (x-5)'s .
¢ M@&H) oud™ EXpre ssipn <

H-x "-l’l bQ/&Wé Z:_%:"g‘fx:"(ﬂ‘)()

34, V50 + V128 =2
13V2

F.
G. 14V2
; H. 2V5+2V8
J. 89V2
K. V178

ACT-56B-SAMPLE

= ZEE YR e
Sf‘mp/!'jfy/'yj ///(//'5'/4/5 (g )

25 ENGH:Z =
5NZ . L e = 2

20 GO ON TO THE NEXT PAGE.
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35. Triangle AABC is similar to ADEF. AR is 8§ inches DO YOUR FIGURING HERE.
long, BC is 10 inches long, and AC is 16 inches long. 7"
If the longest side of ADEF is 40 inches long, what is .5//97, / Q’//‘ +7 M / é S

the perimeter, in inches, of ADEF ?

I\ éya %-%-8 2oz
2 T-% /=45
/Démme-if?v'a = Y0+ 20,20 = g

L G. 6V2
I H. ¢

36. Sides AB, BC, CD, and DA of square ABCD have mid-

points L, M, N, and K, as shown below. If 4B is /4’//\85’( ﬁj. %M re g

6 inches long, what is the area, in square inches, of the

B /}::— .SL = sz’; ;é

MB WSA/J"/&@ Y‘ﬁ"f/p/\/ Arete——. /g
AN TorHL — lnshaped = shodes
e .

\ng L Vi B '\"I'Aa.gorea_,d

shaded region?

F. 41

37. In the figure below, AC is a diameter of the circle, B is

a point on the circle, and AB = BC. What is the degree /4/}/9 /( //]/56/’/ é@ﬁ/ //’l/
measure of ZABC ?
5@/77/ /ﬁ’(/é’ s /4/6//11’?5 ﬁy

D A c Z D & /oG
@é Diemeren, th,

B G0 ANY Ang /e Ly

B. 60° “

B. 600 ‘ I Aty 7 ED
D. 90° : A %

E. Capnot be determined from the given information i -%7’ cs Fy 6’/@/{/5 5.9 4

;

38. In the standard (x.y) coordinate plane, what are the ' ; :
coordinates of the midpoint of a line segment with / — /%/ A/ /Z; //M V4 tﬁz

endpoints (-1,3) and (2,7) 7

e & f7”i 7 yzm

J. (1.4) _’_ ),;,Z 3 + /
o

ACT-56B-SAMPLE | 21 GO ON TO THE NEXT PAGE.
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S
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39. In a downhill ski race, Margo posted a time of 2 min- DO YOUR FIGURING HERE.

utes and 24 seconds for a course 1.2 miles long. About

how many miles per hour did she average for the race? D ;S 7/'4/'1/ 4 /’““ e /? 47;:- —3,\4 ; s #2 é

ﬁ A O ZMinvedts = (20 see Conver TiNG MeaSwtre/n ety
G 20554 : —_— y é
ket 7 ¢ ) (PN N D — Vor/sod
IE) g it J & . T gsedaﬂﬂ"fﬁ /* Z — /?aj/_* ﬂﬁﬁ/

"N120 + 24 e
320 = DO foue 4> e

40, For the 2 functions f(x) and g(x), tables of values are
shown below. What is the value of g(f(3)) ?

(o PIPOS 1 ‘= FeenclionS

_xs If(;) > le®) 4
6 I . )
. Subst Tate £(3) g 2. o

L3

: Pl e RS (2)
MM Y2l ff’éﬁt/ j(z—) éec:awzés ?5/

aiat-Tol

jin

41. For positive real numbers x, y, and z, which of the é y =
following expressions is equivalent to xiyiz8a? ,:-’)
choitér A A Caé

Vs 77 )
A Vo Kemn tm Bes

o Need 7o bt Conmon
\]3( = ééu¢unbuz7?wf,ah EXPONEAS &

St
~ & e\
| s \AB%L/%(

win
o

42, A formula for the area of a rhombus is A = ldld;, F : §

where d; and d, are the lengths of the diagonals. Which

of the following is an expression for d, ? W &7% o %?, ‘%fhﬂ-‘ 'ﬁ /?Z g
F. & ;
e _5;Akﬁ.};r-zz /g ::4#¢WE- : L

G, A T s

] 2d,

7;7 H. Ah J N
"2 Z \

J. 24-d) Z/}:—;zﬁ{ 5;/2,.

K. A—%!‘ w————T J ‘
A )

ACT-568-SAMPLE 22 GO ON TO THE NEXT PAGE.
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43, The line graphed below shows the predicted gasoline DO YOUR FIGURING HERE.

use for a certain car. Which of the following is the

closest estimate of this car’s predicted rate of gasoline ‘
use, in miles per gallon? 0 p (_’, —
M

20 §/9 e _ A
™ A R = e PR
D s e gethes 2o
é %g e e TRE T W S P 1% m’/é’S 7ﬁﬂ i 35"
(635 + et —— 3 ¥ ;
D. gg 0 100 200 300 400 500 600 700 800 /. G3/Jors Ao 35 o ﬁ?ﬂf% S atrrn £
E. 40 miles ?z#’;ﬂ? 2 3 5 o) ":"3.:,1’ ' e '9‘4 //6’?/

44, The graph of y = ax’ + bx + ¢ in the standard (x,y)

V4
coordinate plane is shown below. ﬂﬁ% p Ve ﬁ W ﬁ % / /‘-g

ZQW@Wﬁﬁﬁ/ )/

\ % ;
Sggf'f-f/a/ys | g ~Ank R Z%@—
CUlr whens geh era./ farm oé"’ féf '3:%77&

nel. ¢ poss

F Graph does

Q
=

éfM&ol«(_s o Sonctooace Loph

K-ax;s vihe Y= (x—o )~ €)

When y = 0, which of the following best describes the
solution set for x ?

F.
G.
H.

J.

K.

2 real solutions ‘!Wﬁ Q/j y: 4 ) 50/6Mém/£ 2 MQ

1 double real solution only
1 real and 1 imaginary solution

I double imaginary solution only / —
2 imaginary solutions /X = A /'V/ //K-*"“ g

45. If |y| =y +6,theny="? 50/“/70,{/5 +0 /71555/%%_2 Vﬁ/[/dé’ éf((dﬁé)d/s

&

sidel e

1§ lyl= g+ —Y =Y +¢ andf 7/:y7cé
6 gfﬁﬁﬁ Seysian, [ /fegcal

7
* 46. What fraction lies exactly halfway between % and % ? ;; /[,//A A,? %g /7[ &/,;é} }’7

F,

G.

P\ H.
4

K.

P Mt rea/ly Vier g o

% 5’" / . 7# A/Mé‘%s '

: THE Mt /2%

v A= l/wv‘éw X=Y Bl T
% CpordindTE P/%A/é | e “‘;% '/% 1

ACT-568-SAMPLE é W &’M Can 23 GO ON TO THE NEXT PAGE.
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47. Elliott writes a check for $15. He records the check in
his check register, which up to this time has shown the
correct balance. When figuring his new balance, he
accidentally adds $15 instead of subtracting. The bal-
ance in his check register now shows:

DO YOUR FIGURING HERE.

IAT Eg ER < o4

o

A. $30 less than it should. SRR ;
£ B. $15 less than it should. l \[ > Differeale
C. the correct amount. <— l _‘ﬁy
D. $15 more than it should. # = 15 15
3 than it 1d. TE
—=» E. $30 more than it shou ol o b&/ﬂ_)ﬁéé-

48. Six plants, each of a different plant type, are to be
~ arranged on a display shelf’s 6 spots. If each spot must

the plants be placed?
F. 6
I(;. 21 é i é

i 30 =
I 3 20 = XS edt e
. 720

/De/fm%//}c. Lo < are
/71///%/955-/” ENTS NV & CerZzii,

OV 220
3325 ) = /20

have a plant, in how many different arrangements can
49.

In the standard (x,y) coordinate plane, what is the
distance between the points (3,~4) and (-5,2) ?

Lisias e o g /e

ALEEd A \/ = 2on 5
B. 6 < (')(2 '){,) 7;_.(5/2__5{)
b, 10 s [ 9) -
E. 14 :::\/éy # 3¢ :/&
50. A formula for the volume, V, of a right circular 3
cylinder is V = :‘mri‘h‘, where r is the radius and 4 is the /fﬂ/‘ /U /ﬂ_ 4/!/}/ W{g@%&ﬂ/
height. The cylindrical tank shown below has radius
5 meters and height 4 meters and is filled with water. y;/- S A 'A [ o /f?/??:’ﬁ/y
: 3 ‘ Sin
== = '(b’)#é/’:/ﬂf//ﬁ:.
4 s &
If 1 cubic meter of water weighs approximately et i, ,
2,205 pounds, then the weight, in pounds, of the water : && % 2 Zﬂ ;f e é é / ﬁ’ya
in the tank is: o
F. less than 200,000.
G. between 200,000 and 400,000.
H. between 400,000 and 600,000.
—=» J. between 600,000 and 800,000.
K. more than 800,000.
51. :,;frllnét _:zt.re1 tl;e values of 9, between 0° andq360°. when 7):/} & W /fe 7%4/&' A/C(:" ﬁwj’/f: f
=—179 o
A. 225° and 315° only ; S \
B B. 135" and 315° only - ’[)\ X ﬁ;;.,.ﬁgvv’f; are Nega Tt v
. 135° and 225° only
D. 43 and 135° only 315’9 0z Tho Juadvanve IL el ZV. .
. * D: o, an 2 !
AV E ]ﬂ é/‘égﬁ/z"gzﬂ/@:_z/ e = //f
ACT-56B-SAMPLE p? Jo GO ON TO THE NEXT PAGE.
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52. Which of the following is an equation of a circle with DO YOUR FIGURING HERE.

its center at (3,4) and tangent to the x-axis in the stan- = '
dard (x,y) coordinate plane? %”M . _4;, — ( i ) 7;*(— & 4 -

F. x=-3’+(y-49"=16 \

G. (x-47+(y-3)=16 (h, %) ¢ eT X Coorilinm7es (3 ‘/)

?' Ex_g?gy-i;: g = Radug =

. (x- +(y - = ] :

K. (x+4)7+(y+3 =16 (3 ,9) 7%‘/74’”7 lnves 72 2y Gy
- ‘Cd"(pe,\/ 72 ety <

53. Which of the following best represents the graph of

¥ € ax + b for some positive a and negative b ? «Z}"/éfﬁéﬁ /%‘é,s ﬂ/{// S/é/ﬂ(f—

A. D. y

- U N bt Cly7 Sp 427

O A Shpe b Y-Tlertei

S I 5/0/,4 o PO 5,“77%4‘;

. Clminatz /3 awd D

o 3 e Sl b o pegaict Elmnare

b JUlitfd GG A, Chppsé C Jecauar
o Al Che § Vglies are [65S

*

54. One of the graphs below is that of y = 4 sin® for ©

%?ftl\i\éie;rgpﬁ?d 6.28 radians, where A is a constant. A’/[/dy%ﬁ ﬁjpwwgﬁ’?/

L o |
i%?zv /er/ /f /41/,4 STudd, &:/

‘ 4 714 & 071 e/fr7 7o
L £ “//7 Undl e ST /ou

Bl 5 6x ﬁjhf%/br&'f; 7729 yf’:f,a45

TS Spe Hherels wothig adiiag 7o

: AD A sin ©, Hhewis Mo K—Axis sé',ﬁz‘:%
’ IQ(PUQW’ S O O, gmp/ will 9o Lhree

N 3\ s\dx Of’fj‘,v\f. & fy i jnai’z. 6) T&/JJ{ é;;
C%aic@ #Jw W"‘”‘é? heccced JAerek

GO ON TO THE NEXT PAGE.
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55, In the figure below, D, E, and F are the midpoints of DO YOUR FIGURING HERE.
the sides-AB, BC, and AC, respectively. If the measure

of ZBCA is 20°, and the measure of ZBAC is 60°, 77/;%/5 ’{/)77//%' ; 7

what is the sum of the measures of ZDFE and ZFED ?

B e (84 .
E gvg £ #opori7E

5 e e D/ £D//f4
; i \LCB B~ /8- (hor22)= s
E. 160° s

EX7ens af Ko
/;47—@/@/ pivts trd
'/? ; fzi M;SS'//V
¢ %ﬂWﬁ. 7

56. A formula for the surface area (4) of the rectangular 5 : ’/ﬁ‘ 4 =
solid shown below is A = 2Iw + 21k + 2wh where [ rep- i /Ay a4 (’/.f«/%v E - 54‘
resents length; w, width;z and h, hzighttl. By doubling
each of the dimensions (/, w, and A), the surface area 3 : / 3 /
will be multiplied by what factor? //’ eﬁ//*;l A/j lef et __g{:? £

9. 2(e(eu) » 222)(o4)s 2(4)24)

é : } ------ ) A= §LA/ A 5M -+ 55//
= il 4,/(24-4/) , eﬂ’/zw 4 fr’/f/%)

G :
?: s = ///zgf;w L 2Lh L 2 Y,
K. 12 .
SoHCAY TP 4
57. Ifsinx:%andcosx:——é—,thensecx:? /

A. -2 g ¥

cCC =+
o CoS \

74 L Seec ¥ = / LS Z :

i T e A
i = 5
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58. In a rhombus, all 4 sides are the same length. Rhombus DO YOUR FIGURING HERE.
ABCD below has vertices at A(0,0) and C(4,6). What is

the slope of diagonal BD 7 /?4&»7 é}zs 4”// K/éﬁé’-
i C(4,6) ﬂ/ﬂﬁ fp/i/% Mggfd//* 9&9 =

R -3 5 s Rlom by any) S giare <

G. -2 . _’L JnE< AM// ﬁ/p/ﬂ&.é/’f’/‘

H 2 ' /fpg,}l,’l/’&? C’@/ g/ﬁtjgf_g

Lo aon " epe— 620 3
K. Cannot be determined from the given information Tl 2 -

59. Yvette earned a score of 56 on a recent 25-question

multiple-choice exam, The scoring for the exam was M Cé&
+6 for each correct answer, -2 for each incorrect 4 oy 4 0/ CHES
answer, and 0. for each unanswered question. What is

the maximum number of questions Yvette could have 57’M— /1/ /-% M4 7; W lesr]

answered correctly?
Dss =gy A

C. 1 [T =2l S d ol 7 .2y

- 42 oty T

60. In the standard (x,y) coordinate plane, the graphs of the

3equationsx - 1=0,y+2=10, and x + y = 4 form the : :
boundary of a triangle. What is the area of this é re @/}% /’ A7 ﬁ 524,/

triangle, expressed in square coordinate units?

G.
H.
J

Rl Mrea o) Frsrale
9
: ok
: i o Mo S~ 5
5 [ 2
ﬁ < 7 ! 2 el
it \/ Rl LT
—_— ' “~"END OF TEST 2
STOP!'DO NOT TURN THE PAGE UNTIL TOLD TO DO SO.
= e ' ©-D0 NOT RETURN TO THE PREVIOUS TEST.
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